Tableaux des Puissances de Dix (H)

Multipliez le nombre de la rangée par celui de la colonne.

0,001 10 10 000 100

86

98

20

74

63

0,001 10 000 0,1 100

65

93

50

21

22

0,0001 100 1000 10

32

81

88

71

53

1000 100 0,1 10 000

39

61

59

88

24
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Tableaux des Puissances de Dix (H) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 10 10 000 100
86 0,086 860 860 000 8 600
98 0,098 980 980 000 9800
20 0,02 200 200 000 2000
74 0,074 740 740 000 7400
63 0,063 630 630 000 6 300
X 0,001 10 000 0,1 100
65 0,065 650 000 6,5 6 500
93 0,093 930 000 9,3 9300
50 0,05 500 000 5 5000
21 0,021 210 000 2,1 2100
22 0,022 220000 2,2 2200
X 0,0001 100 1 000 10
32 0,0032 3200 32 000 320
81 0,0081 8100 81 000 810
88 0,0088 8 800 88 000 880
71 0,0071 7100 71000 710
53 0,0053 5300 53000 530
X 1000 100 0,1 10 000
39 39 000 3900 3,9 390 000
61 61 000 6 100 6,1 610 000
59 59 000 5900 59 590 000
88 88 000 8 800 8,8 880 000
24 24 000 2400 2,4 240 000
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